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Question 1
Question Type: MultipleChoice

For link-state routing protocols, filtering inbound routes cannot block the transmission of link-state information. The filtering effect means

that routes cannot be injected into the local routing table but neighbors can still receive complete route state information and calculate

complete routes.

Options: 
A- TRUE

B- FALSE

Answer: 
A

Question 2
Question Type: MultipleChoice



The bandwidth-reference parameter is measured in Mbit/s.

Options: 
A- TRUE

B- FALSE

Answer: 
A

Question 3
Question Type: MultipleChoice

Which of the following LSAs are flooded within a single area? (Select 3 answers)

Options: 
A- The Router LSAs



B- The Network LSAs

C- The Summary LSAs

D- The AS external LSAs

Answer: 
A, B, C

Question 4
Question Type: MultipleChoice

Which of the following are OSPF message types? (Select 4 answers)

Options: 
A- Hello

B- Database Description

C- Link-State Request

D- Link-State Update



E- Link-State Advertisement

Answer: 
A, B, C, D

Question 5
Question Type: MultipleChoice

A router receives a packet whose destination address is 195.26.17.4. Which of these subnets does this address belong to?

Options: 
A- 195.26.0.0/21

B- 195.26.16.0/20

C- 195.26.8.0/22

D- 195.26.20.0/22

Answer: 



B

Question 6
Question Type: MultipleChoice

Which of the following statements regarding RPs are true? (Select 3 answers)

Options: 
A- Different group addresses on a PIM-SM network corresponds to different RPs.

B- An RP is the root of an RFT

C- An RP is elected out of BSRs.

D- All routers on a PIM-SM network must automatically discover the location of RPs.

Answer: 
A, B, D

Question 7



Question Type: MultipleChoice

The Internet Group Management Protocol (IGMP) runs between hosts and their immediately neighboring multicast routers.

Options: 
A- TRUE

B- FALSE

Answer: 
A

Question 8
Question Type: MultipleChoice

If there are two BGP routes with the same destination address but different next hops in a BGP routing table, then which statement

regarding the two BGP routes is true?



Options: 
A- Both BGP routes are advertised to other BGP peers.

B- Only the optimal route between the two is advertised to other BGP peers.

Answer: 
B

Question 9
Question Type: MultipleChoice

Which of the following statements regarding NSSA commands is false?

Options: 
A- The default-route-advertise command is used to generate a type-7 default route.

B- The no-import-route parameter prevents the import of AS external routes in the form of Type-7 LSAs into an NSSA.

C- The no-summary parameter prevents the advertisement of Type-3 and Type-4 LSAs in an area.



D- The set-n-bit parameter indicates that an N-bit will be set in a DD packet.

Answer: 
A
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